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Please check whether you have got the right question paper.
Question no. 1 is compulsory. _—
Question no. 2 to 5 having internal option. ﬁ
State your assumption clearly. o
Figures to the right indicate full marks. =~

N.B:

hPwnNE

Q.1A) Fillin the blanks (Any 8 out of 10)

1

Average Profit is Rs 19, 167 and normal proﬂt is :

The premium payable on redemption can be provlded out of
a) Statutory reserve v o :
b) Capital redemption reserve
¢} Debentures

d) Loan for Bank

Super profit is : s
a) Excess of average profit over normal proflt
b) Extra profit earned ' o
c) Average profit earned by simnlar compames
d) None of the above . S
Capital redemption reserve can be utlllzed for

a) Paying dividend = S

b) Issue of bonusshares

c) Setoff against losses

d) Write off fictitious balance

v b‘,‘OQO.’. The Super Profit is
a) Rs.9,167 e
b) Rs.29,167
c) Rs. 19,167
d) Rs. 10, 000

'Net Asset value is also called as___ .

a) Asset backmgvaiue
b) Intrinsic value
¢)  Liquidation va].u_e

d) abandc _ “ S
The amount remainmg unpald to preference shareholders is included in Balance Sheet as

a) Share capltal

b) loan

¢ Current Liablhtles : »
d) Contmgent Llablhtles
Yield value depends. on___

a)  Future Maintainable profit

b) Paid up equity capital

" ¢) Normalrate of return
~d) Aliofthe above
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Q.2

B)

Q.P. Code :05543

8. Securities premium may be used for
a) Payment of dividend
b) Issue of fully paid bonus shares
¢) Issue of partly paid bonus shares
d) None of the above
9. Interest on sinking fund investment is credited to L
a) Sinking fund account ' s
b) Profit & Loss account o
¢) Profit & Loss appropriation
d) None of the above ; .
10. Maximum buy back in a year can be .

a) 10% » -

b) 20%

c) 25%

dj 30%

Match the column. (Any 7 out of 10} :
Group ‘A’ g Group 'B' :

1. Freshissue . -,']:,Converti ) e_,:lnto equtty shares
2. Debenture redemption res f‘:'Only shares
3. Buy back . ) Dividend accumulated
4. Sinking fund _ d) Re-Purchase
5. Terms of redemption ) Partof buy back
6. Convertible preference shares f) Compulsory under Companies Act
7. Cumulative preferencefs__‘ares ~g) Specify atissue
8. Reserves e ‘ "”\Optlonal
9. Fictitious asset o “ Based on- rate of interest and rate of risk
10. NRR B < tanglble having no realizable value

The Assets and :'Liebilibti'e‘"

Liabilities S sse Rs.
2,500 shares of Rs 100 each 2 50 000; | Lande and Bundung 5,25,000
Fully paid S ~| Plant and Machinery 1,50,000
Profit & Loss Afc 00| Furniture and Fitting 10,000
Debentures 00 | Delivery Van 20,000
Trade Creditors ©3,00,000 | Stock 55,000
| Provision for Taxation: = 90,000‘\ “Book Debts 25,000
.Proposed‘-di.\iidend"v'f o i 20,000 | Cash 25,000
- B 3 N 8 10,000 8,10,000
The Net Proflt of the Company before tax were as follows:
Year s Profit

= Rs. 62,000

Rs. 64,000

Rs. 71,000

Rs. 78,000

Rs. 85,000

. :, 'lncome Tax may be taken @ 30%. Normal Rate of Return may be assumed as 12.5%

o fand also fi nd\out vﬁ i

Find out of the value of goodwill on five years’ purchase of the average super-profit for the last five years.
of goodwill as per capitalization of super profit method.

OR
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Q.P. Code 05543

Q.2 The Balance of the Jrndal Ltd. As on 31° March 2016 revealed the followmg B o ' 15

Liabilities Rs. Assets | Rs

Share Capital (Issued) Fixed Assets 9,00, 000" )

Equity share of Rs. 10 each 8,00,000 | Less: Depreciation 1 10 000* , 7,90,000

Reserves . 2,00,000 | Goodwill ] 80,000

Profit and Loss Account 20,000 | Current Assets - S | 90,000

10% debentures 1,00,000 | Discount on Debentures f 1 10,000

Current Liabilities 2,50,000 | Bank Batance | 400000
13,70,000 . 13,70,000

1. Fixed assets and Goodwill were revalued at Rs 7 50 000-and Rs. 1, 00 000 respectively.

2. The net profit after tax for the immediately preeedmg t ’ree years were Rs. 1,10,000 Rs. 1,05,000 and
Rs. 1,45,000 of which 25% were transferred to reserves '

3. Afair return in the lhdustry in whlch the company rs engaged is considered to be 10%.

Compute the value of the company‘s share by
i) Net Assets Method '
ii) Yield Value Method = R . o
Q3 Following is the balance sheetofAnish ktd Ason 31—03 2015 _’ S 15
Liabilites |~ Rs, | Assets - Rs.
8% Redeemable Preference share T [Fixed Assets (Net) 25,00,000
Capital {Shares of Rs. 10 each ful!y 1~ . [Investments = 4,05,000
paid up) | 1350000

( ank Balance 3,00,000
Equity Share Capital (Rs 10 each) o 13;5(_),,'.000 Other Current Assets 10,50,000
Securities Premium | 40,500 | Miscellaneous Expenditure 20,000
Profit and Loss A/c | 1350000
Directors Loan | s0000f
: Sundry Creditors : © 1,34,500 |
: .42,;75,&)‘00 42,75,000

The company exercised the optron to: Redeem the preference Shares at 10% premium. For this purpose, it
issued 67,500 right shares of Rs..10 each ata premium of Rs. 10 per share.
- Investment were sold for. Rs 5,13, OOO Pass necessaryJournaI entries in books of Anish Ltd.

OR

Turn over
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Q.3

Q4

Q.P. Code :05543

The Balance Sheet of Straight Ltd. as on 31* March, 2016 was as under:

Balance Sheet

Liabilities Rs. Assets Rs.

Share Capital: Fixed Assets ' 15,00,000
25,000 Equity Shares of Rs. 100 Investments , 10,00,000
Each fully paid 25,00,000 | Market Value' [Rs 10,01, 000]
10,000 9% redeemable Bank ‘Balance 50,000
Preference shares of Rs. 100 each Other Current Assets 20,00,000
Rs. 90 per share paid up
General Reserves
Profit and Loss A/c-
Dividend Equalization Reserves .
Sundry Creditors™

" 45,50,000

the Companies Act, 1956
Pass Journal Entries in the book‘of

Liabllme‘sv L Rs.
Share Capital: L
Authorized, tssued Subscnbed and, 40,00,00:0
called-up: ’ 15,00,000
Equity Shares of Rs. 10 each
Reserves&SurpIUS' f’ | Advance
Securities premium B Current Assets
General Reserve % (i'h__'_c'l'ljding Bank balance Rs.
Profit & Loss A/c 15,00,000) 35,00,000
Secured Loans: - ~ | Loan & Advances 5,00,000
10% debentures o
. ;Current liabilities & prov:sions
- | Sundry Creditors -
- Bills Payable .
R 95,00,000

_Keepmg |n vaew aII the Iegal requu

(Y e‘nts ascertam
¥ 'her of eqmty shares that Archana Ltd. can buy—back

i) Maxnmum
i) Themaxim m'pnce it can offer.
Assume that the buy

Journal of Archana'Ltd ‘

OR

s;camed out actually on the legally permissible terms, record the entries in the

Turn over
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Q.5A)

Q.5

Q.P. Code 105543

A Company gave notice of its intention to redeem its outstanding Rs. 50, 000 10% Debentures of 100 each at 15
a premium of 5% and offered the holders the following options:

1.
2.
3.

To accept 12% cumulative Preference Shares of Rs. 20 each at Rs 25 per share.
To accept 10% Debentures stock at 96% : :
To have their holding redeemed for cash. Accordingly. D

i) Rs. 25,000 debentures holders accepted the Proposal 1.

i) Rs. 20,000 debentures holders accepted the: Proposal 2.

iii) Remaining debentures holders accepted the Proposal 3

Pass the Journal Entries in the books of Company.

Explain the Provision of the Companies Act, 1956, regardmg redemptlon of preference shares.

Distinguish between Redemption of Shares and Buyback of Shares _

OoR

Write short Notes (Any 3/5)

moonow>

Sources of BuyBack

Bonus Shares -

Sinking Fund Method

Yield Value Method of Shares Valuatlon o e
Super-profit Method of valuatlon of goodwill
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